— Note Tite = - ] 5012-10-10 %

A | v Determine the range of the function v = J3x-9+2.
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Determine all solutions for the equation v x+4 =3x.

A. —0.61, 0.72 . Hﬂl
B. —0.61 == b~ 7=c
e 072 2.
D. 133
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W The graph of y= f(x) is sketched below. Determine the domain and range of y = 4: (x)
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The graph of y = f(x) is sketched below. Determine the domain and range of y =,/ f(x)

(x9) > (=,J9)

0:-1<x€5S
Pqumw

} —= X

-10 -5 5 10

ONOEFINVED

—10-+



@ Givea &)z ZoxzC an) 5(x)2 = | Jefecmine

-9 >?=
. n&.u.)w._.o.rfrw—hnmv 4 m)._.n.\hm_l'm\ mﬁhwﬁ .\.ﬂunv ¢ Qﬂunv.
. (3)(x+2) 9(x) =
fa: (23 (= +3) 5 wxu:rwv
_ +
.ﬁ.ﬁohv - =+ le.»%m%u Un..l||w
x+ 3 Horiz Asg—! Y= O
Vert. Asym: o€ = -S Mo Holes
Horiz. bmu.J. .Q“ _ Uh.;.J*n ﬁ.Ouov
Hole : ﬁ.w m.v oC-1T: ﬁ\uov QLJ._\.. NO\OV
gt (0,5 wv




X |<4-2 2 4 —1lo Io

Y |-0.6 04 -0406 -0.1 O.



@ 102:m?=n=o=\ﬁiu m.||% which of the following statements explain the behaviour of
x°—2x

the graph of f for the values of a variable near a non-permissible value?
..\ = N.N\\LUN,X+ wv
Qﬁa: x is close to 2 on either side, f is close to 2. vl
When x is just to the right of 0, f is a large positive value. " C NW\\@

When x is just to the left of 0, f is a large negative value.

B. When x is close to 2 on either side, f is close to 4. .% = >X+2
When x is just to the right of 0, f is a large positive value. =
When x is just to the left of 0, f 1s a large negative value.

| L «]1-% 2.1 -o.l 0.l
C. When x is close to 2 on either side, f is close to 2.

érmnam&:m:o:ﬁnm::;o.\mmm_m_.mmzmmwmﬁé_:ﬁ % — Dc_ ~JW .\NJ M:
When x is just to the left of 0, fis a large positive value.

D. When x is close to 2 on either side, f is close to 4.
When x is just to the right of O, f is a large negative value.
When x is just to the left of 0. f is a large positive value.
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Which of the lollowing best represents the graph of the rational function v = e
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